B R R

= EEBEMTA I B RGN
RHAEESERITE @ FelE -

s Article

.ssential Quastions
wENEREE:
LLEER‘tAI Que‘g;lonwelhaﬁf% tAEBREREERAE
REE %ﬁénﬂuﬁ%%;;;ﬁﬁ‘ K{l@iﬂdpﬂ’]aﬁﬁ

Filter By Question Type

Filter By Learning Objectives

1. identify the percentage of the planet’s expected urban area that is yet oo
.\"\ be buill by 2030,

2. Explain the relationship between cities and global GDP. s
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3. Recognize the vulnerability of populations in tropical zones to extreme  0/3
heat events.

4. Undersiand the urbian heat island affect and its impacts on human o
‘eaith, animal life, secial events, tourism, water availability, and business
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tis slope intercept form? “lon patterns, built form, ane

A. A method for expressing linear equations in algebre
B. A method for calculating the area of a triangle
€. A method for solving systems of linear equations
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= D. A method for finding the roots of a quadratic equation
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2. What does the siope of a line represent?
A.The area under the line
B. The y-intercept of the line
C. The x-intercept of the line
D. The steepness of the line

QUGStIOI’]WG” TIEZELENTS  HEMo UESHE - ik Explain the meaning of the slope and y-nterceptin a linear
FFH G - HEBREERHSEMH -

To®HHE

3. What is the formula for computing the slope of a line?
Aom= (x1-x2) [ (y1-y2)
B.m=(yl-y2) /[ (x X

~= (y2 -yl /(4 QuestionWell
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An atom = made up of protons, neutions, and electrons. Each sloment (s defined by its
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Bx 78 e firs1 anengy level 630 it two elecirons, Eha second one can Tit oight, Pectens s
pasilive in charg Tama New and

contiibate 1M o mass. ECINONS are negative in charge and da no3 ConrDute ta
ags. By defass, all €lemants on 1he PArOGiE LBLI 310 HEUIFA), Mesring Ehey have the
same number of protons and electicns. Mass is computed by adding the number of
Drolons and the numler of meuirons. Ghatge is compuled by subIracting she number of

=7 se1r0ns from tne number of protons. A Charge of 2o 15 AOUL, CAITI0S M10mE a1
e catod lons, An lan |5 positivaly chasged i it has mare pratons than olocirans and
I \/ negatively charged i it has mere cloctrons than peotons, There can be dilferent isstopes.
of an alement that hawe different numbers of neutrcas, and the mass s determined by
them ai.
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